tEFFHERESE

AP FEMRE 6G

SMTFEELUREEZEATRV Y VY TEFERS

&L F—L% K4 237 12GF—%1
% 1,31
w16 JLEEH ) B BT @= 318 2717
ok £ 1,399
5 1,34
w1 | B)IVE—0E mukE | o0 A 349 2,708
KEF ig— 1,359
2t 1,345
3L ARHEEZE (%) i 2,707
IRAK E— 1,362
NE # 1,320
Eafi PEEGER (%) - k5 (% 2 696
i Bk - "7 (%) S8 1376
EIR F 1,345
5 4vFv2 A 2 640
ol WwA>7 BA E2 1,295
BOfI | WFFvsFU—ToU=TULy - NTTELXE =H B 1,246 2,571
RiE HEL 1,325
BT HI4-aA—FL—ay g Al 1,364 2 557
=E FiE 1,193
1,
smafr |LH - WERsU—yrma| O fab 305 2 551
Bl =B 1,246
25 1,321
Eofi HT54ETFUTL s =% 3 2 544
HE =3 1,223
B0 | SErIHLBELERR A | T8 B0 1,128 2,534
BARK BX 1,406
T 1,17
SE114 T4 VBEEERR) IE{I 2R 176 2,505
B3 EA 1,329
Rk Ef 1,31
B124 &L Y7 ol = 319 2,504
ZH B®X 1,185
= oE— 1,216
13f 5 C 2.491
R131L de MiE B— 1.275
BE144 = LLith 5 £ E (Bk) A 56 1,130 2,476
BI= i 1,346
NE E— 1,178
E1511 At BERDHE (B 2,459
n ) Z)l| HZ 1,281
BLA 1,22
=166 JLEEEH ) A Ars E ,228 2 458
=E —F 1,230




#1740 SRS L —TA m& =M 1,144 2 447

R A 1,303
N.

1813 #I1»7vs C TEE A 1,262 2,443
M Al 1,181

=106 LEEH®) D B fEs 1,139 2436
I 1,297

820(% HBES A mH = 1,165 2,422
Bl &2 1,257

22148 BEAT( v 27 (1) ufe KL 1117 2,406
M sk 1,289
N Y

H22fr SRS L —TB Bt R 1,248 2301
wE A 1,143

B30 | SE4IHLMELELZF C mE BT 1,200 2,376
NS 1,176

E244 4 € (%) - =@z G 1,106 2,349
& Bz 1,243

2511 )1 >v57vo B Tw % 1,108 2,317
B ARl 1,209
:':/\ ‘I

26 ()RS - A ol 1,218 2312
=A AZ 1,094

E27{ =131l () R KT 1,035 2,306
EE B 1271

081 JkBEESH ) C R B 1,041 2,290
W =— 1,249

220t HES B REHIA 1,138 2283
EB B 1,145

301 (H)FR=# C EEE e 1,0% 2,270
EK 1,174

#3148 #R=# B il 1,039 2258
=) &R 1,219

324z (HAR=# A Eﬁ ’ 1,106 2,247
B s 1,141

B | MTAX - e VER =R RF 1,140 2241
E2 fE 1,101

B | SESIHAVRELEEN B | o A 1,052 2236
RSP A 1,184
=H mE 1143

#3514 LINK ’ 2,186
BT xB 1,043 ’




53641 () Tk R = 1,055 2,169
EH A 1114
Z B

#3710 () IABUER? B o EA 1,067 2114
B fhiE 1,047
=0 N

380 (B MR A S 1,048 2,080
M 1,032

EARE

HGE LEEARB - 284 |HD:A

HSE B)7Y 2—1tE ELXE KEF iE— 756 HD>A




